
Готовимся  к  ЕГЭ

Базовый  уровень.



0,37 + 0,07∙ 9 = 0,37 + 0,63 = 1

Ответ:         1

Ответ:         - 5 



390 – 150 = 240

Ответ:         240



1500 – 1000 = 500  - ежемесячная выгода

3900 : 500 = 7,8

Ответ:         8 



Цена до 
распродажи

1600 100 %

1 понижение 25 %
Стал стоить 75%

1600 ∙ 0,75
 = 1200

1200

Цена после  1 
понижения

1200 100 %

2 понижение 15 %
Стал стоить 85%

1200 ∙ 0,85
 = 1020

1020 Ответ:  1020



Всего 
жителей

500 тысяч 100 %

детей 15 %
взрослых 85 %

взрослых 425 тысяч 100 %
работают
Не работают 35 %

500 ∙ 0,85=

 425 тыс.

65 %

425 ∙ 0,65=

 425
0,65

×

  2125
2550

27625
276,25 тысяч

Ответ:   276250



S = nl S = 60· 1500 = 90 000 см 
1 км= 1000 м = 100000 см 

= 0,9 км

Ответ:         0,9 



10 ∙ 10 = 100 (г) кислоты на 10 л

100 : 8 = 12,5   пакетов кислоты 

Ответ:         13 



-9 + 9х = 9
9х = 18 х = 2

Ответ:         2 



5-3

54-3х+8х-2  = 5-3

5х + 2 = - 3

5х + 2 = - 3

5х = - 5 х = - 1

Ответ:         -1 



Sобщая  = 20∙ 30 ∙ 2 = 1200  м2

1200 – 140 = 1060

1060 : 2 = 530

Ответ:         530 



3 2 4 1

Ответ:         3241 



Р (А) = 0,75

А – событие   t < 36,70

В – событие   t ≥ 36,70

Р (В) = 1 - 0,75 = 0,25

Ответ:         0,25 



Р = 0,3 ∙ 0,3 = 0,09

Ответ:         0,09 



9 + 3 = 12

Ответ:         12

13



6 + 8 = 14

Ответ:         14 



+

+

+

Ответ: 
   257 



2 1 4 3



H14
BH = AH∙ tg A

BH = 14∙     = 20

Ответ:         280 



< AOB = 600 = U AOB меньшая
 U AOB большая  = 360 – 60 = 3000

19   -   600

х   -  3000



300
18

BK  - биссектриса, медиана, высота

Δ ABK   прямоугольный

< A = 300 значит   BK = 9

Ответ:         9 



Sбок. = 2пRH

Sбок.1 = 2п∙2∙3

Sбок.2 = 2п∙12∙5

Sбок.2      2п∙12∙5
Sбок.1       2п∙2∙3=

2

= 10

Ответ:         10 






